Part II Hong Kong Salaries Tax

(I)
Multiple Choice Questions

	1.
	D
	

	2.
	B
	$20,000 x 7 + $4,000 x 7 + $80,000 = $248,000

	3.
	B
	$30,000 x 9 + ($30,000 x 9 x 10%) rental value = $297,000

	4.
	D
	$365,000 – $80,000 = $285,000

	5.
	C
	

	6.
	A
	$240,000 + $110,000 = $350,000

	7.
	B
	2005/06: $1,095,000 x 63/365 = $189,000

	8.
	C
	

	9.
	B
	

	10.
	A
	

	11.
	D
	

	12.
	B
	

	13.
	D
	

	14.
	C
	

	15.
	C
	

	16.
	D
	

	17.
	D
	

	18.
	B
	

	19.
	C
	

	20.
	B
	

	21.
	B
	

	22.
	B
	

	23.
	B
	$480,000 / 3 years x 3 months/12 months

	24.
	D
	

	25.
	B
	

	26.
	A
	

	27.
	C
	

	28.
	B
	

	29.
	D
	

	30.
	D
	

	31.
	D
	

	32.
	C
	

	33.
	D
	

	34.
	D
	

	35.
	A
	$120,000 x 9/36 = $30,000

	36.
	B
	$1,281,000 x 95/366 = 332,500


(II)
Examination Style Questions

Answer 1

(a)(i)

	
	Marks

	Miss Fond’s occupation is aircrew. The income derived from services rendered by a seaman or an aircrew will be exempt from salaries tax if he/she is not present in HK for more than:

(a)
60 days in the year of assessment; and
(b)
120 days over two consecutive years of assessment, one of which is the year concerned [section 8(2)(j)].
Both conditions have to be satisfied before a seaman or an aircrew is exempt from salaries tax.
	1

1

1


	Year of assessment 2006/07
	

	As Miss Fong was present in Hong Kong for more than 60 days in the year of assessment, the first condition under section 8(2)(j) is not satisfied and therefore she is chargeable to salaries tax for the year of assessment 2006/07
	2




	Year of assessment 2007/08 and 2008/09
	

	As Miss Fong was present in Hong Kong for less than 60 days in the year of assessment 2007/08 and 2008/09, the first condition of section 8(2)(j) is satisfied. As the total number of years she was present in HK for these two years of assessment was less than 120, the second condition of section 8(2)(j) is also satisfied. As such, Miss Fong is exempt from salaries tax for both the years of assessment 2007/08 and 2008/09.
	2




(a)(ii)

	As Miss Fong’s income is chargeable to salaries tax for the year of assessment 2006/07 and her employment is located outside HK, only income attributable to services rendered in HK is subject to salaries tax. The assessable income will be as follows:

$365,000 x 210/365 = $210,000
	2

	
	9


(b)

Mr Claton

Salaries tax computation

Year of assessment 2008/09

Basis period: 1 April 2008 to 31 March 2009

	
	
	
	Marks

	Number of days present in HK
	=
	280 days
	0.5

	Number of business days in 2008/09 (365 – 14)
	=
	351 days
	0.5

	Leave earned attributable to Hong Kong services:

(14 days x 280/351)
	=
	11 days
	1

	Total number of days attributable to HK services:

(280 days + 11 days)
	=
	291 days
	1


	
	$
	$
	

	Salary
	
	1,440,000
	0.5

	Bonus
	
	200,000
	0.5

	Commission
	
	300,000
	0.5

	
	
	1,940,000
	0.5

	Less: Income attributable to services rendered outside HK ($1,940,000 x 74/365)
	
	393,315
	1

	
	
	1,546,685
	

	Add: Salaries tax paid by employer
	
	180,000
	1

	
	
	1,726,685
	

	Add: Rental value ($1,726,685 x 10%)
	172,668
	
	0.5

	Less: Rent suffered ($2,000 x 12)
	(24,000)
	148,668
	0.5

	Assessable income
	
	1,875,353
	1

	
	
	
	9


[Examiner’s comment – Candidates’ overall performance was quite good. Part (a) concerned chargeability to salaries tax of an aircrew. Many candidates failed to specify that for exemption from salaries tax of an aircrew, two conditions under section 8(2)(j) had to be satisfied.

Part (b) concerned the computation of assessable income of a non-Hong Kong employment. Most candidates were able to demonstrate the basic concepts in the computation of this kind of assessable income.]

Answer 2

(a)

Mr Laird

Computation of gain on share option

Year of assessment 2007/08

	
	$
	$
	Marks

	Proceeds of option
	
	50,000
	

	Less: Cost of option ($10,000 x 1/2)
	
	5,000
	

	Total gain
	
	45,000
	

	
	
	
	

	Gain attributable to HK services
	
	
	

	($45,000 x 245/365)
	
	30,205
	


Year of assessment 2008/09

	
	$
	$
	

	Market value of shares at date of exercise

(50,000 x $8)
	
	400,000
	

	Less: Cost of shares (50,000 x $2)
	100,000
	
	

	Cost of option ($10,000 x 1/2)
	5,000
	105,000
	

	Total gain
	
	295,000
	

	
	
	
	

	Gain attributable to HK services

($295,000 x 245/365)
	
	198,013
	

	
	
	
	


(b)

Mr Laird

Salaries tax

Year of assessment 2007/08

	
	$
	$
	

	Salary
	
	960,000
	0.5

	Bonus
	
	80,000
	0.5

	Passage allowance
	
	18,000
	0.5

	
	
	1,058,000
	

	Income attributable to Hong Kong services:
	
	
	

	($1,058,000 x 245/365)
	
	710,164
	1

	Add: Allowance for stay in Hong Kong
	
	7,350
	0.5

	
	
	717,514
	

	Rental value ($717,514 x 10%)
	71,751
	
	1

	Less: Rent suffered ($1,000 x 12)
	(12,000)
	59,751
	0.5

	
	
	777,265
	

	Gain on share option
	
	30,205
	0.5

	Net assessable income before concessionary deductions
	
	807,470
	5


(c)

Year of assessment 2008/09

	
	$
	$
	

	Salary
	
	1,020,000
	0.5

	Bonus

Passage allowance
	
	85,000

24,000
	0.5

	
	
	1,129,000
	

	Income attributable to Hong Kong services:
	
	
	

	[$1,129,000 x (210 + 30 x 210/335)/365]
	
	707,731
	1

	Allowance for stay in HK
	
	6,300
	0.5

	Director’s fee
	
	120,000
	0.5

	
	
	834,031
	

	Rental value ($834,031 x 10%)
	81,898
	
	1

	Less: Rent suffered ($1,000 x 12)
	(12,000)
	71,403
	0.5

	
	
	905,434
	

	Gain on share option
	
	198,013
	0.5

	
	
	1,103,447
	

	Less: Elderly residential care expense
	
	(54,000)
	0.5

	Net assessable income
	
	1,049,447
	

	Less: Married person’s allowance
	216,000
	
	0.5

	Child allowance
	50,000
	266,000
	0.5

	Net chargeable income
	
	789,447
	

	
	
	
	

	Net chargeable income at progressive rates:
	
	
	

	40,000 @ 2%
	800
	
	

	40,000 @ 7%
	2,800
	
	

	40,000 @ 12%
	4,800
	
	

	669,447 @ 17%
	113,806
	
	

	
	
	122,206
	0.5

	Net assessable income at standard rate:
	
	
	

	$1,049,447 x 15%
	
	157,417
	0.5

	
	
	
	

	Salaries tax payable

Less: 100% Tax rebate

Salaries tax thereon
	
	122,206
8,000

114,206
	0.5

	
	
	
	8


[Examiner’s comment:

(a)
Although many candidates were able to compute the amount of gain on the share options, they did not know that the chargeable gain was to be apportioned based on the number of days of service rendered in HK in the year of grant.

(b)
They did not know that no apportionment was required in respect of the allowance for stays in Hong Kong.

(c)
Since residential care expense paid were less than the maximum deduction, the expenses allowed should have been based on the expenses paid instead of the maximum amount.]

Answer 3

(a)

Mr Li

Salaries tax

Year of assessment 2008/09

	
	$
	$
	Marks

	Salary
	
	400,000
	0.5

	Bonus
	
	80,000
	0.5

	Housing allowance
	
	150,000
	0.5

	Special allowance
	
	12,000
	0.5

	Cash prize
	
	10,000
	0.5

	Ex-gratia payment
	
	27,000
	0.5

	
	
	679,000
	

	Part-time employment income
	
	10,000
	0.5

	
	
	689,000
	

	Less: Subscription to HKICPA
	
	2,100
	0.5

	Net assessable income
	
	686,900
	

	Less: Concessionary deductions
	
	
	

	Approved charitable donations

(35% x $686,900)
	70,000
	
	0.5

	Home loan interest (50% x $100,000)
	50,000
	120,000
	0.5

	
	
	566,900
	

	Less: Basic allowance
	108,000
	
	0.5

	Child allowance
	50,000
	158,000
	0.5

	Net chargeable income
	
	408,900
	

	
	
	
	

	Net chargeable income at progressive rates:
	
	
	

	40,000 @ 2%
	800
	
	

	40,000 @ 7%
	2,800
	
	

	40,000 @ 12%
	4,800
	
	

	288,900 @ 17%
	49,113
	
	

	
	
	57,513
	0.5

	Net assessable income at standard rate:
	
	
	

	$566,900 x 15%
	
	85,035
	0.5

	
	
	
	

	Salaries tax payable

Less: 100% tax rebate
Salaries tax thereon
	
	57,513
8,000

49,513
	0.5


Mrs Li

Salaries tax

Year of assessment 2008/09

	
	$
	$
	Marks

	Salary
	
	300,000
	0.5

	Less: Self-education expense
	
	20,000
	0.5

	Net assessable income
	
	280,000
	

	Less: Concessionary deductions
	
	
	

	Approved charitable donations

(lower of $22,000 and 35% x $300,000)
	22,000
	
	0.5

	Elderly residential care expense
	54,000
	
	0.5

	Home loan interest (50% x $100,000)
	50,000
	
	0.5

	Contributions to MPF scheme
	12,000
	138,000
	0.5

	
	
	142,000
	

	Less: Basic allowance
	
	108,000
	0.5

	Net chargeable income
	
	34,000
	

	
	
	
	

	Tax at progressive rate ($34,000 x 2%)
	
	680
	0.5

	Net assessable income at standard rate:
	
	
	

	$142,000 x15%
	
	21,300
	

	Salaries tax payable

Less:100% tax reduction

Salaries tax thereon
	
	680

680

Nil
	

	Total tax payable under separate taxation
	
	49,513
	12


Mr and Mrs Li

Joint assessment

Year of assessment 2008/09

	
	Mr Li
	Mrs Li
	Total
	Marks

	
	$
	$
	$
	

	Net assessable income
	686,900
	280,000
	966,900
	1

	Less: Concessionary deductions
	
	
	
	

	Approved charitable donations: Lower of $92,000 and $(966,900 + 20,000) x 35%
	
	92,000
	
	0.5

	Elderly residential care expense
	
	54,000
	
	0.5

	Home loan interest
	
	100,000
	
	0.5

	Contributions to MPF scheme
	
	12,000
	258,000
	0.5

	
	
	
	708,900
	

	Less: Married person’s allowance
	
	216,000
	
	

	Child allowance
	
	50,000
	266,000
	0.5

	Net chargeable income
	
	
	442,900
	

	
	
	
	
	

	Tax at progressive rate $(442,900 – 120,000) x 17% + $8,400
	
	
	63,293
	

	
	
	
	
	

	Net assessable income at standard rate:
($708,900 x 15%)
	
	
	106,335
	

	
	
	
	
	

	Salaries tax payable
	
	
	63,293
	0.5

	
	
	
	
	4


(c)

	
	Marks

	As the total tax payable under joint assessment is greater than that computed under separate taxation, it is not advantageous for Mr and Mrs Li to elect joint assessment
	1


(d)

	
	Marks

	The spouse nominated by Mr and Mrs Li will be liable to pay the tax demanded under joint assessment if joint assessment were to their advantage.
	1


[Examiner’s comment: This was a question on salaries tax with both husband and wife receiving chargeable income. Candidates’ overall performance was satisfactory. However, candidates showed the following weaknesses:

(a)
once they saw the term “housing allowance”, many candidates assessed Mr Li with the rental value instead of including the whole allowance as taxable income;

(b)
they wrongly included the compensation and lump sum payment received from the recognized retirement scheme as taxable income;

(c)
they were not familiar with the computation of joint assessment; and

(d)
many did not know that when both husband and wife are liable to salaries tax but joint assessment is to their advantage, the nominated spouse will be liable to pay the tax demanded under joint assessment.]

Answer 4

(a)

Mr Wong

Salaries tax

Year of assessment 2007/08

	
	$
	$
	Marks

	Salary ($50,000 x 12)
	
	600,000
	0.5

	Passage allowance
	
	30,000
	1

	Travel allowance
	
	24,000
	1

	Gratuity ($50,000 x 24 x 20% x 12/24)
	
	120,000
	1

	
	
	774,000
	

	Rental value ($774,000 x 10%)
	77,400
	
	1

	Less: Rent suffered [($20,000 – $18,000) x 12]
	(24,000)
	53,400
	1

	Gain on share option ($3.50 – $1.50) x 100,000 x 60%
	
	120,000
	1

	
	
	947,400
	

	Less: Approved charitable donations
	100,000
	
	1

	Contribution to MPF scheme
	12,000
	112,000
	0.5

	
	
	862,400
	

	Less: Married person’s allowance
	200,000
	
	0.5

	Child allowance
	50,000
	
	0.5

	Disabled dependent allowance
	60,000
	310,000
	0.5

	Net chargeable income
	
	552,400
	0.5

	
	
	
	10


Year of assessment 2008/09

	
	$
	$
	Marks

	Salary ($50,000 x 6 + $40,000 x 6)
	
	540,000
	1

	Passage allowance
	
	30,000
	1

	Travel allowance
	
	24,000
	0.5

	Medical expenses
	
	20,000
	1

	Gratuity ($50,000 x 24 x 20% x 6/24)
	
	60,000
	1

	
	
	674,000
	

	Rental value ($674,000 x 10%)
	67,400
	
	1

	Less: Rent suffered [($20,000 – $18,000) x 12]
	24,000
	43,400
	0.5

	
	
	717,400
	

	Less: Approved charitable donations (lower of $717,400 x 35% and $100,000)
	100,000
	
	1

	Contribution to MPF scheme
	12,000
	112,000
	0.5

	Net assessable income after deduction of concessionary deductions
	
	605,400
	0.5

	
	
	
	8


[Examiner’s comment: This question concerned the basic computation of salaries tax liability and candidates’ performance was good. However, candidates showed the following weaknesses:

(a)
many candidates did not know the difference between net chargeable income and assessable income after concessionary deductions;

(b)
the annual travel allowance should be fully taxable;

(c)
they wrongly included the gratuity relating to the new contract despite the fact that the gratuity had not been received.

(d)
they failed to distinguish the difference between the housing allowance and the rent refund.]

Answer 5

	(a)
	Marks

	As Mr Lee is employed by a Hong Kong company, he has a Hong Kong employment and therefore he is liable to salaries tax under section 8(1) of the Inland Revenue Ordinance. He will not be liable to salaries tax if he has rendered all his services outside Hong Kong (section 8(1A)(b)) or has visited Hong Kong for not more than 60 days in a year of assessment (section 8(1B)).

Although Mr Lee’s presence in Hong Kong in the year of assessment 2007/08 did not exceed 60 days, he is still subject to salaries tax as his stay was not short nor temporary and did not amount to a visit only. As such, his income from the period 15 February 2008 to 31 March 2008 is fully chargeable to salaries tax.
	1

1

2


Mr Lee

Salaries tax

Year of assessment 2007/08

	
	$
	$
	

	Salary
	
	150,000
	0.5

	Rental value ($150,000 x 8%)
	12,000
	
	1

	Less: Rent suffered
	1,500
	10,500
	0.5

	Assessable income
	
	160,500
	6


(b)

Year of assessment 2008/09

	
	$
	$
	

	Salary
	
	1,200,000
	0.5

	Bonus
	
	150,000
	0.5

	Reimbursement of utilities expenses
	
	18,000
	0.5

	Entertainment allowance ($3,000 x 12 x 1/2)
	
	18,000
	1

	Holiday benefit $[18,000 + (63,000 x 2/3) + (63,000 x 1/3 x 14/21)]
	
	74,000
	1.5

	Motor car expense
	
	6,000
	0.5

	
	
	1,466,000
	

	Rental value ($1,466,000 x 8% x 3/12)
	29,320
	
	1

	($1,466,000 x 10% x 9/12)
	109,950
	
	1

	
	139,270
	
	

	Less: Rent suffered ($1,000 x 3 + $1,200 x 9)
	13,800
	125,470
	1

	
	
	1,591,470
	

	Less: Contributions to MPF scheme
	
	12,000
	0.5

	Net assessable income
	
	1,579,470
	

	Less: Married person’s allowance
	216,000
	
	0.5

	Child allowance
	50,000
	266,000
	0.5

	Net chargeable income
	
	1,313,470
	0.5

	
	
	
	

	Tax at progress tax rate

$(1,313,470 – 120,000) x 17% + $8,400
	
	211,289
	1

	
	
	
	

	Net assessable income at standard rate:($1,579,470 x 15%)
	
	236,920
	1

	
	
	
	

	Salaries tax payable
	
	211,289
	0.5

	
	
	
	12


[Examiner’s comment: Part (a) required explanation of chargeability to salaries tax, and candidates’ performance was not good. They only stated that Mr Lee was not liable to salaries tax for the year of assessment 2007/08 as he stayed in Hong Kong less than 60 days in that year of assessment, but did not realize that his stay in Hong Kong did not amount to a visit and therefore the 60 days rule was not applied.

When it came to the computational part, candidates’ performance was also not good. They applied time apportionment despite the fact that Mr Lee’s employment was located in Hong Kong.

Other problems included:

(a)
The service charge paid to the hotel was wrongly included as rent and deducted from rental value.

(b)
Candidates were weak in computing the holiday benefit. They were unable to exclude the portion related to business trip.

(c)
They did not know that Mr Lee was not entitled to a dependent parent allowance in respect of his father as his father was not resident in Hong Kong during that year despite the fact that he held a Hong Kong Identify Card.]

Answer 6

(a)

Mr Deane

Salaries tax

Year of assessment 2008/09

	
	
	$
	Marks

	No. of days present in Hong Kong
	
	280
	0.5

	No. of days outside Hong Kong on vacation leave
	
	15
	0.5

	No. of business days in the year (365 – 15)
	
	350
	0.5

	Leave earned attributable to Hong Kong services

(15 days x 280/350)
	12
	1

	Total no. of days attributable to Hong Kong services (280 + 12)
	292
	1.5

	
	
	
	4


(b)

Salaries tax computation

Year of assessment 2008/09

	
	$
	$
	Marks

	Salary
	
	1,200,000
	0.5

	Bonus
	
	300,000
	0.5

	School fee
	
	120,000
	0.5

	Club subscription fee
	
	30,000
	0.5

	Holiday journey benefit (W1)
	
	41,000
	

	Gain on share option (W2)
	
	295,000
	

	Total income subject to apportionment
	
	1,986,000
	1

	
	
	
	

	Income attributable to Hong Kong services:

(1,986,000 x 292/365)
	
	1,588,800
	2

	Allowance for stays in Hong Kong
	
	28,000
	0.5

	
	
	1,616,800
	

	Rental value

($1,616,800 – $295,000 x 292/365) x 10%
	
	138,080
	1

	
	
	1,754,880
	

	Part-time employment income
	
	60,000
	0.5

	
	
	1,814,880
	

	Less: Married person’s allowance
	216,000
	
	0.5

	Child allowance
	50,000
	266,000
	0.5

	Net chargeable income
	
	1,548,880
	1

	
	
	
	

	Tax at progress tax rate

$(1,548,880 – 120,000) x 17% + $8,400
	
	251,309
	0.5

	
	
	
	

	Net assessable income at standard rate:($1,814,880 x 15%)
	
	272,232
	0.5

	
	
	
	

	Salaries tax payable
	
	251,309
	

	
	
	
	

	W1
Expenses paid by employer for holiday journey in respect of:
	
	
	

	Mr Deane’s hotel and other expenses ($60,000 – $15,000) x 15/45
	
	15,000
	1

	Mrs Deane ($11,000 + $15,000)
	
	26,000
	1

	Taxable holiday journey benefit
	
	41,000
	

	
	
	
	

	W2 Market value of shares at the date of exercise
	
	
	

	(100,000 x $5)
	
	500,000
	1

	Cost of option
	5,000
	
	0.5

	Cost of shares (100,000 x $2)
	200,000
	205,000
	0.5

	Gain on share option
	
	295,000
	14


[Examiner’s comment: This was a question on salaries tax with non-Hong Kong employment. Candidates achieved the best result in this question. They were able to compute the number of days attributable to Hong Kong services. However, in computing the salaries tax liabilities, candidates showed the following weaknesses:

(a)
they did not know what kind of income was subject to apportionment;

(b)
candidates were weak in the computation of holiday journey benefit;

(c)
they were not familiar with the calculation of gains on share options; and

(d)
many candidates wrongly treated the subscription fee as self-education expense and incorrectly deducted this from assessable income.]

Answer 7

	(a)
	Marks

	In relation to Mr Murphy’s cessation of employment and return to England, CD (HK) Ltd has the following obligations:

(i)
to notify the Commissioner of Inland Revenue in writing about Mr Murphy’s cessation of employment one month before the cessation (s 52(5)

(ii)
to notify the Commissioner of Inland Revenue in writing about Mr Murphy’s departure one month before the date of departure (s 52(6))

(iii)
to withhold money payable to Mr Murphy for one month from the date of giving notice under s 52(6) or until the company receives notice from the Inland Revenue Department for the release of money
	2

2

2

6


(b)

Mr Murphy

Salaries tax computation

Year of assessment 2008/09

	
	$
	$
	Marks

	Salary
	
	880,000
	0.5

	Bonus
	
	120,000
	0.5

	Entertainment allowance ($36,000 x 1/3)
	
	12,000
	1

	Passage allowance
	
	50,000
	0.5

	Leave pay
	
	20,000
	0.5

	Shares given (50,000 x $5)
	
	250,000
	1

	
	
	1,332,000
	

	Rental value ($1,332,000 x 10%)
	133,200
	
	1

	Less: Rent suffered ($2,000 x 11)
	22,000
	111,200
	1

	
	
	1,443,200
	

	Contract gratuity
	
	480,000
	0.5

	Additional gratuity
	
	100,000
	0.5

	Share option ($4.5 – $3) x 100,000 x 73/365
	
	30,000
	1

	
	
	2,053,200
	

	Less: Married person’s allowance
	216,000
	
	0.5

	Child allowance
	50,000
	266,000
	0.5

	Net chargeable income
	
	1,787,200
	1

	
	
	
	

	Tax at progress tax rate

$(1,787,200 – 120,000) x 17% + $8,400
	
	291,824
	1

	
	
	
	

	Limitation test: ($2,053,200 x 15%)
	
	307,980
	0.5

	
	
	
	

	Salaries tax payable
	
	291,824
	0.5

	
	
	
	12


[Examiner’s comment: Not many candidates attempted part (a) as it required them to express their knowledge in writing. Those who attempted this part did not score good marks and they were unable to express their answers correctly.

The overall performance in part (b) was just average. Candidates were generally weak in the tax treatment of:

(a)
passage allowance – fully taxable;

(b)
terminal passage – not taxable;

(c)
shares given – taxable at market value;

(d)
share option – failed to make apportionment; and

(e)
rental value.]

Answer 8

(a)

Mr Park

Computation of holiday journey benefits

	
	
	$
	Marks

	Trip expenses paid by employer
	
	60,000
	

	Less: Trip expenses attributable to Mrs Park (60,000 x 1/2)
	30,000
	

	
	
	30,000
	

	Less: Cost of air ticket
	
	9,000
	1

	
	
	21,000
	

	
	
	

	Expenses attributable to holiday trip: ($21,000 x 15/25)
	12,600
	2

	Mrs Park’s trip expenses
	
	30,000
	1

	
	
	42,600
	4


(b)

Mr Park

Salaries tax

Year of assessment 2008/09

Basis period: year ended 31 March 2009

	
	$
	$
	Marks

	Salary
	
	1,200,000
	0.5

	Bonus
	
	200,000
	0.5

	Refund of utilities
	
	32,000
	0.5

	Car running costs reimbursed ($30,000 x 15%)
	
	4,500
	1

	Holiday journey benefits
	
	42,600
	

	Special bonus
	
	3,000,000
	0.5

	Income from CP (Far East) Ltd
	
	120,000
	0.5

	
	
	4,599,100
	

	Rateable value
	300,000
	
	1

	Less: Rent suffered $(30,000 – 25,000 + 2,500) x 12
	90,000
	210,000
	1

	
	
	4,809,100
	

	Part-time employment income
	
	30,000
	0.5

	
	
	4,839,100
	

	Less: Contributions to recognized retirement scheme
	
	12,000
	0.5

	
	
	4,827,100
	

	Less: Married person allowance
	216,000
	
	0.5

	Child allowance
	100,000
	
	0.5

	Disabled dependent allowance
	60,000
	376,000
	0.5

	Net chargeable income
	
	4,451,100
	1

	
	
	
	

	Tax at progressive rate

$(4,451,100 – 120,000) x 17% + $8,400
	
	744,687
	1

	
	
	
	

	Limitation test: $4,827,100 x 15%
	
	724,065
	1

	
	
	
	

	Salaries tax payable
	
	724,065
	1

	
	
	
	12


(c)

	Calculation of rental value
	$
	$
	Marks

	Total income from principal employers & associates
	
	4,599,100
	

	
	
	
	

	Rental value at 10%
	
	459,910
	2


[Examiner’s comment: Unexpectedly, candidates’ overall performance on this question was the worst amongst all the questions. Many candidates were unable to compute the holiday journey benefits in part (a) despite the taxation of holiday journey benefits having been enacted for many years. Candidates showed the following weaknesses in the salaries tax computation:

(a)
they were unable to compute the benefit of accommodation provided by the employer to the taxpayer. Many of them included the monthly rent paid by the employer in assessable income. They also failed to use the rateable value to replace the rental value;

(b)
they did not realize that the provision of a local domestic servant was not a taxable benefit;

(c)
income from the subsidiary was taxable and should also be included in the computation of rental value despite the fact that the subsidiary did not carry on business in Hong Kong; and

(d)
contributions to the recognized retirement scheme should have been restricted to $12,000.

Part (c) was poorly answered. Many candidates were unable to compute the rental value in respect of the place of residence correctly.]

Answer 9

(a)

Mr Wu

Salaries tax

Year of assessment 2008/09

Basis period: year ended 31 March 2009

	
	$
	$
	Marks

	Salary
	
	912,500
	0.5

	Bonus
	
	100,000
	0.5

	Housing allowance
	
	120,000
	0.5

	Passage allowance
	
	60,000
	0.5

	Gratuity
	
	240,000
	0.5

	
	
	1,432,500
	

	Less: Membership subscription
	
	2,100
	0.5

	Net assessable income
	
	1,430,400
	

	Less: Approved charitable donations
	20,000
	
	0.5

	Home loan interest
	50,000
	
	0.5

	Contributions to MPF scheme
	12,000
	82,000
	0.5

	
	
	1,348,400
	

	Less: Basic allowance
	108,000
	
	0.5

	Child allowance
	50,000
	
	0.5

	Dependent parent allowance
	15,000
	
	0.5

	Additional dependent parent allowance
	15,000
	188,000
	0.5

	Net chargeable income
	
	1,160,400
	

	
	
	
	

	Tax at progressive rate

$(1,160,400 – 120,000) x 17% + $8,400
	
	203,628
	0.5

	
	
	
	

	Limitation test: $1,348,400 x 15%
	
	202,260
	0.5

	
	
	
	

	Salaries tax payable
	
	202,260
	0.5

	
	
	
	8


(b)

Mrs Wu

Salaries tax

Year of assessment 2008/09

Basis period: year ended 31 March 2009

	
	$
	$
	Marks

	Salary
	
	36,000
	

	Commission
	
	140,000
	

	
	
	176,000
	0.5

	Less: Outgoings and expense ($140,000 x 5%)
	7,000
	
	0.5

	Self education expenses
	4,400
	11,400
	0.5

	Net assessable income
	
	164,600
	

	Less: Approved charitable donations

($164,600 + $4,400) x 35%
	59,150
	
	1

	Home loan interest
	50,000
	
	0.5

	Contributions to MPF scheme
	8,000
	117,150
	0.5

	
	
	47,450
	

	Less: Basic allowance
	
	108,000
	0.5

	Net chargeable income
	
	NIL
	4


(c)

Mrs Wu

Salaries tax

Year of assessment 2008/09

Basis period: year ended 31 March 2009

	
	Mr Wu
	Mrs Wu
	Total
	Marks

	
	$
	$
	$
	

	Net assessable income
	1,430,400
	164,600
	1,595,000
	1

	Less: Approved charitable donations: Lower of $(20,000 + 80,000) or $(1,595,000 + 4,400) x 35%
	
	100,000
	
	1

	Home loan interest (50,000 + 50,000)
	
	100,000
	
	0.5

	Contributions to MPF scheme

$(12,000 + 8,000)
	
	20,000
	220,000
	0.5

	
	
	
	1,375,000
	

	Less: Married person’s allowance
	
	216,000
	
	

	Child allowance
	
	50,000
	
	

	Dependent parent allowance
	
	15,000
	
	

	Additional dependent parent allowance
	
	15,000
	296,000
	1

	Net chargeable income
	
	
	1,079,000
	

	
	
	
	
	

	Tax at progressive rate:

$(1,079,000 – 120,000) x 17% + $8,400
	
	
	171,430
	0.5

	
	
	
	
	

	Limitation test: $1,375,000 x 15%
	
	
	206,250
	0.5

	
	
	
	
	

	Salaries tax payable
	
	
	171,430
	5


(d)

As Mrs Wu’s net assessable income is less than her personal allowances, Mr Wu is liable to pay the salaries tax charged under joint assessment. [1 mark]
[Examiner’s comment: Surprisingly again, candidates’ overall performance was only average. For salaries tax purpose, they should know that:

(a)
passage allowance was fully taxable starting from the year of assessment 2003/04;

(b)
Mr Wu’s gratuity was fully taxable and relating back was not applicable;

(c)
contributions to MPF scheme was restricted to $12,000 per annum;

(d)
maximum amount of approved charitable donations was 35% on net assessable income before self education expense instead of 35% on the donations made;

(e)
concession to allow membership subscription to professional association did not cover student membership fee;

(f)
50% of the home loan interest was to be allowed to Mr and Mrs Wu respectively and not wholly to Mr Wu even though all the interest was paid by him; and

(g)
no married person’s allowance was allowed in the respective salaries tax assessment of Mr and Mrs Wu.

Many candidates were not familiar with the format of computation of tax liability under joint assessment. Most of them did not know who was liable to pay the tax charged under joint assessment.]

Answer 10
(a)

Mr Kwan

Computation of Holiday Journey Benefit

	
	$
	$
	Marks

	Holiday journey paid by employer
	
	44,000
	1

	Less: Expenses attributable to business journey:
	
	
	

	Air ticket
	10,000
	
	1

	Accommodation & meals ($18,000 x 1/2 x 10/18)
	5,000
	15,000
	1

	Assessable benefit
	
	29,000
	3


(b)

Mr Kwan

Computation of share option gain

	
	$
	$
	Marks

	Sales proceeds on share option
	
	110,000
	1

	Market value of shares at the date of exercise:

(50,000 x $8.2)
	
	410,000
	1

	Less: Cost of shares (50,000 x $2.5)
	
	(125,000)
	0.5

	Cost of option
	
	(20,000)
	0.5

	Share option gain
	
	375,000
	3


(c)

Mr Kwan

Salaries Tax

Year of assessment 2008/09

Basis period: year ended 31 March 2009

	
	$
	$
	Marks

	Salaries ($600,000 + $120,000)
	
	720,000
	0.5

	Bonus ($75,000 + $10,000)
	
	85,000
	0.5

	Holiday journey benefit
	
	29,000
	

	Salaries tax
	
	88,000
	0.5

	
	
	922,000
	

	Less: Allowable outgoing & expenses
	
	(8,000)
	0.5

	
	
	914,000
	

	Rental value ($914,000 x 10%)
	91,400
	
	1

	Less: Rent suffered $(30,000 – 28,000) x 12
	24,000
	67,400
	1

	
	
	981,400
	

	Share option gain
	
	375,000
	

	Net assessable income
	
	1,356,400
	0.5

	Less: Concessionary deductions
	
	
	

	Approved charitable donations
	220,000
	
	0.5

	Contributions to MPF scheme
	12,000
	232,000
	0.5

	
	
	1,124,400
	

	Less: Married person’s allowance
	216,000
	
	0.5

	Child allowance
	50,000
	
	0.5

	Dependent parent allowance
	60,000
	
	0.5

	Dependent parent allowance
	30,000
	356,000
	0.5

	Net chargeable income
	
	768,400
	0.5

	
	
	
	8


	(d)
	Marks

	In case of a refund of rent, the refund will not be taxable but the employee will be deemed to have been provided with a place of residence and rental value will be included in the assessable income. In case of a housing allowance, the whole amount will be included in the assessable income and assessed in full. The interest paid on the mortgage loan can be allowed under home loan interest subject to a maximum of $100,000.
	1

1

1

1

4


[Examiner’s comment: The performance was not very good. They did not study the question carefully. The question only asked for the net chargeable income but many candidates also computed the tax payable by Mr Kwan. The following additional points may be noted:

(a)
The calculation of holiday journey benefit and share option gain was not demonstrated clearly.

(b)
The rental value should have been based on the total income received from both companies, but excluding the share option gain.

(c)
The rateable value was not applied, as it was greatere than the rental value.

(d)
Only salaries tax paid by the employer during the year ended 31 March 2009 was included in the total income as the tax of $13,000 was paid after 31 March 2009, which was related to the year of assessment 2009/10.

(e)
The difference between tax implications on the rent refund and the housing allowance was not demonstrated by candidates.]

Answer 11

(a)

In DIPN 10, the Commissioner of Inland Revenue will accept that an employment is located outside Hong Kong where the following three factors are present:

(i)
the contract of employment was negotiated, entered into, and is enforceable outside HK; [1 mark]

(ii)
the employer is resident outside HK; [1 mark] and

(iii)
the employee’s remuneration is paid to him outside HK. [1 mark]

In the present case, although the negotiation and signing of the employment contract were outside HK, Mr Lee is employed by a company incorporated and carrying on business in HK, as a general manager, and the contract is likely to be enforceable in HK. Also, his remuneration is paid to him in HK. As such, Mr Lee has a HK employment and his income is chargeable under section 8(1) of the Inland Revenue Ordinance. [2 marks]

(b)

Mr Lee

Computation of share option gain

	
	$
	Marks

	Market value of shares at the date of exercise (100,000 x $8)
	800,000
	1

	Less: Cost of shares (100,000 x $3)
	(300,000)
	1

	Share option gain
	500,000
	2


(c)

Mr Lee

Salaries tax computation

Year of assessment 2007/08

Basis period: year ended 31 March 2008

	
	$
	$
	Marks

	Salaries
	
	1,440,000
	0.5

	Bonus
	
	90,000
	0.5

	Holiday journey benefit
	
	25,000
	0.5

	Electricity, gas and water bills
	
	32,000
	0.5

	Entrance fee and membership fee of Recreation club ($60,000 + $48,000)/2
	
	54,000
	0.5

	Petrol allowance ($1,500 x 12)
	
	18,000
	0.5

	
	
	1,659,000
	

	Less: Allowance outgoings and expenses
	2,500
	
	0.5

	Self education expense
	10,000
	(12,500)
	0.5

	
	
	1,646,500
	

	Rental value
	
	
	

	$(1,646,500 + 10,000) x 1/12 x 4%
	5,521
	
	1

	$(1,646,500 + 10,000) x 11/12 x 10%
	151,845
	
	1

	
	157,366
	
	

	Less: Rent suffered $(25,000 – 24,000) x 11
	(11,000)
	146,366
	1

	
	
	1,792,866
	

	Share option gain
	
	500,000
	

	Net assessable income
	
	2,292,866
	

	Less: Concessionary deductions
	
	
	

	Approved charitable donations
	200,000
	
	0.5

	Contributions to MPF scheme
	12,000
	(212,000)
	0.5

	
	
	2,080,866
	

	Less: Married person’s allowance
	200,000
	
	0.5

	Child allowance
	50,000
	(250,000)
	1

	Net chargeable income
	
	1,830,866
	

	
	
	
	

	Tax at progressive rate
	
	
	

	35,000 @ 2%
	700
	
	

	35,000 @ 7%
	2,450
	
	

	35,000 @ 12%
	4,200
	
	

	1,725,866 @ 17%
	293,397
	
	

	
	
	300,747
	0.5

	Net assessable income at standard rate:
	
	
	

	$2,080,866 x 16%
	
	332,938
	0.5

	
	
	
	

	Lower of standard rate and progressive rate
	
	300,747
	

	Less: Tax rebate (75% limited to $25,000)
	
	(25,000)
	0.5

	Salaries tax payable
	
	275,747
	11


[Examiner’s comment: Candidates’ overall performance was satisfactory. Part (a) required candidates to elaborate whether Mr Lee was having a Hong Kong employment and many of them failed to quote the three conditions in determining the locality of employment.

Many were not familiar with the calculation of share option gain under part (b).

Candidates showed the following weaknesses in the salaries tax computation under part (c):

(a)
The employer’s expense on the air tickets for relocation of family to Hong Kong was not taxable.

(b)
The expenses incurred by the employer for employee’s accommodation was not taxable but rental value should have been included as assessable income.

(c)
The utility charges paid on behalf of Mr Lee was taxable.]

Answer 12

	(a)
	Marks

	According to DIPN 10, the Commissioner of Inland Revenue will accept that an employment is located outside Hong Kong where the following three factors are present:

(a)
the contract of employment was negotiated, and entered into, and is enforceable outside Hong Kong;
(b)
the employer is resident outside Hong Kong; and

(c)
the employee’s remuneration is paid to him outside Hong Kong
	1

1

1

3


(b)

	Computation of days attributable to Hong Kong services
	
	Marks

	Number of days present in Hong Kong
	177 days
	0.5

	Number of business days in the year of assessment 2007/08

(366 – 30) days
	336 days
	0.5

	Leave day attributable to Hong Kong services

(30 days x 177/336)
	15.8 days
	1

	Total number of days attributable to Hong Kong services

(177 days + 15.8 days)
	192.8 days
	1

	
	
	3


(c)

	Computation of share option gain
	
	Marks

	Number of days during the vesting period (365 + 366) days
	731 days
	0.5

	Number of days in Hong Kong during the vesting period
	192.8 days
	0.5

	
	
	

	Market value of shares at the date of exercise

(100,000 x $6.60)
	$660,000
	

	Less: Cost of shares (100,000 x $2)
	$200,000
	

	
	$460,000
	1

	
	
	

	Assessed gain: $460,000 x 192.8/731
	$121,324
	1

	
	
	3


(d)

Mr Cole

Salaries tax computation

Year of assessment 2007/08

Basis period: year ended 31 March 2008

	
	$
	$
	Marks

	Salaries
	
	1,800,000
	

	Bonus
	
	200,000
	

	
	
	2,000,000
	0.5

	
	
	
	

	Income attributable to Hong Kong services:

$2,000,000 x 192.8/366
	
	1,053,551
	1

	Allowance for stays in Hong Kong
	
	88,500
	0.5

	
	
	1,142,051
	

	Rental value ($1,142,051 x 10%)
	114,205
	
	1

	Less: Rental suffered ($1,000 x 12)
	12,000
	102,205
	1

	
	
	1,244,256
	

	Share option gain
	
	121,324
	0.5

	Other income
	
	50,000
	0.5

	
	
	1,415,580
	

	Less: Married person’s allowance
	200,000
	
	0.5

	Child allowance
	100,000
	300,000
	1

	Net chargeable income
	
	1,115,580
	1

	
	
	
	

	Tax at progressive rate:

$(1,115,580 – 105,000) x 17% + $7,350
	
	179,148
	0.5

	
	
	
	

	Standard rate: $1,415,580 x 16%
	
	226,492
	0.5

	
	
	
	

	Tax payable
	
	179,148
	

	Less: Tax waived
	
	25,000
	0.5

	Salaries tax payable
	
	154,148
	9


[Examiner’s comment: This was a question on salaries tax under a non-Hong Kong employment. Candidates’ overall performance was satisfactory.

Many candidates wrongly stated in part (a) that one of the factors in determining the locality of employment was the place of service.

For part (b), many candidates had wrongly used the whole year (366 days) in calculating the leave days attributable to Hong Kong service instead of using the business days (336 days).

Part (c) concerned the computation of share option gain and many candidates were unable to compute the apportioned gain in case the option was granted subject to vesting period under a non-Hong Kong employment.

Candidates showed the following in the salaries tax computation under part (d):

(a)
apportionment was not applicable to the allowance for stays in Hong Kong;

(b)
share option gain should not have been included in the calculation of rental value;

(c)
dependent parent allowance should not have been allowed as the parent was not ordinarily resided in Hong Kong.]

Answer 13

	(a)
	Marks

	A married person’s allowance is granted to an individual who is, at any time during the year, married, and
(i)
whose spouse has no income chargeable to salaries tax in that year; or
(ii)
the individual and his or her spouse have elected for joint assessment to salaries tax for that year; or
(iii)
who has validly elected personal assessment for that year.
Since Mrs Fong is a housewife and has no income chargeable to salaries tax for the year of assessment 2007/08, Mr Fong is entitled to married person’s allowance.
	1

1

1

1

1




(5 marks)

(b)

Mr Fong

Salaries tax

Year of assessment 2007/08

	
	$
	$
	Marks

	Salaries
	
	1,500,000
	0.5

	Bonus
	
	300,000
	0.5

	Holiday journey benefit

$(12,000 + 25,000 + 3,000)
	
	40,000
	2

	
	
	1,840,000
	

	Less: Subscription
	
	(2,350)
	0.5

	
	
	1,837,650
	

	Rental value ($1,837,650 x 10%)
	183,765
	
	1

	Less: Rent suffered $(22,000 – 18,000) x 12
	48,000
	135,765
	1

	
	
	1,973,415
	

	Share option gain

$(8 – 3) x 100,000 – $10,000 x 1/2
	
	495,000
	2

	
	
	2,468,415
	

	Less: Self-education expense
	
	(40,000)
	0.5

	Net assessable income
	
	2,428,415
	

	Less: Concessionary deductions
	
	
	

	Approved charitable donations

$(15,000 + 5,000)
	20,000
	
	1

	Elderly residential care expense
	60,000
	80,000
	0.5

	
	
	2,348,415
	

	Less: Married person’s allowance
	200,000
	
	

	Child allowance
	50,000
	
	

	Dependent parent allowance

$(30,000 + 15,000)
	45,000
	
	

	Additional dependent parent allowance
	45,000
	340,000
	2

	Net chargeable income
	
	2,008,415
	

	
	
	
	

	Salaries tax payable at progressive tax rates:

$(2,008,415 – 105,000) x 17% + $7,350
	
	330,930
	1

	
	
	
	

	Limitation test: $2,348,415 x 16%
	
	375,746
	1

	
	
	
	

	Tax payable
	
	330,930
	

	Less: Tax waived
	
	25,000
	0.5

	Salaries tax payable
	
	305,930
	14


(c)

	
	
	Marks

	(i)
	Trip expenses paid by the company

The trip taken by Mr Fong is on business trip and not taxable as it is not a holiday travel. However, the trip taken by Mrs Fong is a holiday travel and so the amount spent by the company in connection with her journey is taxable. As no extra cost is incurred on the accommodation, no taxable benefit arises.
	1

1

1



	(ii)
	Loan from employer

The benefit obtained from the low interest loan provided by Mr Fong’s employer is not chargeable as the benefit obtained is not convertible into cash. The interest paid to his employer is not deductible as it is private in nature.
	1

1

	(iii)
	Cash coupon

As the cash coupon is not received by reason of Mr Fong’s employment or services rendered, it is not taxable.
	1



(6 marks)

P. 6

